
Break Even 
Study the information below and then answer the questions that follow.
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Using the formula below and the information given in the scenario, insert the correct amounts in the shaded areas.
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QUESTION TIME!

	Calculate the number of customers Dreams Come True must have to break even.
	






Use the scenario from task three to complete the output table.
	Customers per month
	Fixed Costs (£)
	Variable Costs (£)
	Total Costs 
(£)
	Total Revenue 
(£)

	0
	
	
	
	

	50
	
	
	
	

	100
	
	
	
	

	150
	
	
	
	

	200
	
	
	
	



[image: http://blog.spu.edu/ethix/files/2013/05/question-marks1.jpg][image: http://blog.spu.edu/ethix/files/2013/05/question-marks1.jpg]
QUESTION TIME!

	What would be the profit or loss is the business had 100 customers a month?
	



Plot a break even chart for Dave and Sandra then label it
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Study the information below and then answer the questions that follow.

[image: ]


Use the scenario above to complete the output table
	Customers per month
	Fixed Costs 
(£)
	Variable Costs (£)
	Total Costs 
(£)
	Total Revenue 
(£)

	0
	
	
	
	

	10
	
	
	
	

	20
	
	
	
	

	30
	
	
	
	

	40
	
	
	
	












Plot a break even chart for John and Joe then label it
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QUESTION TIME!


	State the number of customers Gulliver’s Travels must have to break even
	




A grade exam questions:
	State the profit or loss the business would make in a month if it had 30 customers.
	

	State one course of action John and Joe could take if there was an unexpected increase in costs.
	

	Explain the impact of your chosen course of action on Gulliver’s Travels.
	

	What are the limitations of a break-even analysis?
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John and Joe intend to set up Gulliver's Travels in order to
provide a planning service for tailor-made holidays. They intend
targeting customers who have both the time and money to enjoy
this type of holiday.

y

They estimate their costs as
follows:

Fixed Costs = £2000
per month
Variable Costs = £50
per person
Averageprice = £150

for their services  per person





image2.png
Dave and Sandra are taxi drivers who plan to go into business together providing
cars and limousines for special occasions. They intend targeting wedding and party
planners as potential customers for their business. Their business will be called Dreams
Come True.

They estimate their costs as follows:

v Eﬂﬂl\“ Total Fixed Costs = £3 000 per month

£ Variable Costs = £20 per customer

They intend charging
an average price of £40 per customer
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Fixed costs
Selling price per unit minus variable cost per unit

Break-even point =

Break-even point =





